
 1 

Install oval washers into these two slots. 

 
 

Item # | Product Name:   #302379 Dock Bridge Section 30” x 60”  
 

Parts List: Tools Needed: 

1.  Plastic Bridge Section 30 x 60 1. Ratchet and 9/16” socket 

2. 3/8 x 2” bolt qty 6, Oval washer qty 2, 3/8” heavy 
washer qty 4, 3/8 lock washer qty 6  

2.Hammer or Large Mallet 

3. 3. Lubricant (optional) 

4. 4. 

 
Assembly Instructions:   
 

1. Align the dock bridge section between two dock sections as shown below. Slide the bridge section into 
the channels on the dock sections. Use lubrication if necessary. 
  
  

 
  

 
 
 
 
 
 

 
 

 
 
 
 

2. Once the bridge section is in place, insert an oval washer into the two center slots and secure with the 
3/8 x 2 bolts and lock washers. Install the remaining bolts, heavy washers and lock washers into the 
other 4 slots in the dock. Tighten securely. 

www.wavearmor.com 


